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GENERAL INSTRUCTIONS TO THE EXAMINEES :
1) udienedf wduem 39a U9 U R AR SAfEra: o)

Candidates must write first his / her Roll No. on the question paper
compulsorily.

2) |¥t W s 2

All the questions are compulsory.
3) Tk U9 T I & 3 STR-YEaeht | & ford|

Write the answer to each question in the given answer-sheet only.
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TEAR HERE TO OPEN THE QUESTION PAPER
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5)

6)

7)

2
R uoat # staites @uE g, 3 9+t o I v |y & ferd|

For questions having more than one part, the answers to those parts are to be
written together in continuity.

T 1 I oI € g U9 1 ShATe 31avd o
Write down the serial number of the question before attempting it.

Ty U % @Gl 9 3Tl T | foRet TR it e / e / forienyme g W R s
* T R & T W

If there 1s any kind of error / difference / contradiction in the Hindi & English
versions of the question paper, the question of Hindi version should be treated
valid.

9 TR 21 B 23 1 saier forehed 21 TRt tek oo i g i)

Question Nos. 21 to 23 have the internal option. Attempt any one option.
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Qv - A
SECTION - A
1) wgfosredt 9 :

Multiple choice questions:

i)  vmfte ST T ETTA 8 8 - [1]
) SUHH Hl & d) Uk FH o FTER
q) %] Hl HHd 2) UM HAd &R
The study area of macro economics is -
A) Taste of consumer B) Behaviour of a firm
C) Price of commodity D)  General price level

i) U IHR I % FECL WA Bl B - [1]
HA) T 9) ==
|)  wigh 7).~ T
Capital received in returns for its use -
A) Rent B) Interest
C) Labour D) Profit

iil) WRA W Tehet A IUTE hl ATheAT Hell 8 — [1]
A) e 9 i sfoegan q)  Hifa smEm
) wHgE gifeadhl Ted g) fom omam

Calculate the Gross domestic product in India -
A) Reserve Bank of India

B) NitiAayog

C) Central Statistical Organization

D) Finance Commission

iv) fefes ymam &1 e ol @ - [1]
H) 3-Acled a) =
|) g 3) % U gH
Easy form of digital payment mode is -
A) e-wallets B) Cheque
C) Draft D) Bank passbook
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v) et % forg sifow sroreran g @ - [1]
) &R ) HoE Sw
|) RS )  aoTeue S
Lander of last resort for banks is -
A) Government B) Central bank
C) Consumer D) Commercial banks

vi) ufia e (cY) feR s @ - [1]
A) TN W ) A™ W
) HHd TR W g) W
Induced Consumption (¢Y) 1s depends -
A) On Interest B)- On Income
C) OnPrice Level D) On Taxes

Vi) Srfie g et i Wewegut Fiota w o § - [1]
) TR 9) dNR
¥) & g) IO
Who takes importtant decisions in centrally planned economy -
A) Government B) Market
C) Bank D) Consumer

vii) FrafoRaa # Frrada o =1 v e g - [1]
) ImEu )  InyFw Ui
|) e aE g) R ®H
An example of inferior goods in follows -
A) Jewellery B) Modern dress
C) Coarse cereals D) Smart phone
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iX) IeUTEH Wt hi e oY Hehd 8 — [1]
#) q=f(LK) @) q=f(L+K)
|w) q=f(L-K) 3) q=f(L+K)
Production function shows as -
A) q=f(LK) B) q=f(L+K)
C) q=f(L-K) D) q=f(L+K)

X) ol AINTA 3R HST UNSd AT oh HET 3TaR g @ — [1]
HA) 3Ed @I 6 SR ) HHd AT o SR
)  ofied R @FT o SR 7) ot R TN o SR
Difference between total cost and total variable'cost is -
A) Equal.to Average cost B)  Equalto marginal cost
C) Equal to Average fix cost D) Equalto total fix cost

Xi) eI 3THd AT ok Rl SreehTel HHT= CIRTd <k Had hiedl § — [1]
¥) v fog W &) e foig W
¥) I=Ian fog | e 3) wem fog A IW
Long run average cost always intersect the Long run marginal cost at -
A) On higher point B) On minimum point
C) Below from higher point D) Above from mid point

Xil) HA-8 TR T EH arfEew wedt & fore wrde’ s ot € - [1]
HA) UHMURR &) Yol Siaaitrar
|) g 3)  SFCUIER
In which market firms make 'cartel' to get combined profit -
A) Monopoly B) Perfect Competetion
C) Duopoly D) Oligopoly
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2)  fra zerm B ot v -

Fill in the blanks :

i) uenh fory f ufrg g dod HE AT ... T4 | TR TS [1]
Adam Smith's Famous book "Wealth of Nations' published in year :

i) wwAFENE ... g W fae Faw g 2 [1]
Substract from grass investment then get net investment.

i) et T W, et Tea SuHi o SR T IR Bt 2| [1]
The ex ante aggregate demand is the sum of the total ex ante consumption
expenditure and .

iv) Tgh qe TR womEE, = . TEJU gl AT 2 [1]
Roads and government administration are called goods.

1'% I TR—FISHRTA TeTEd <99 1 Ush Tai- 921 U2 2| [1]

is the single largest component of non=plan revenue expenditure.

vi) O A i S SRl e T, IaTER & [1]
Tea and coffee are justdike example of goods.

3) e uwHi & 3w 10 - 20 et W i

Answer the following questions in 10~ 20 words :

i) frata @ sma o wwE@ 7 [1]
What do you understand by export?

i) i I gRwia i) [1]
Define stock.

iil) Sk R A o SAfiruT 20 [1]
What is meant by bank rate?

iv) i Tures 1 g feTRau| [1]
Write the formula of investment multiplier.

V)  SUHFT A Tt e W AR et 20 [1]
What does consumption demand depend the most on?

vi) o H uRedd 9 3 % T W IHE 6 e | g [1]
Diagramatically show the effect of change in tax on the income equilibrium.
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vil) Yot W | AT R A 2 [1]
What do you mean by capital account?

Vi) TUTTETeRR IURTAT fergerwor e 27 [1]
What is ordinal utility analysis?

ix) amfemm Ao A 219 = AHeE E 2 [1]
What do you understand by indifference map?

X) SICUhIAl hi G H TS| [1]
Explain short run in brief.

xi) s Fom e B R S A 3 1]
What is the shape of average fixed cost?

xil) et ufiterdt ST 1 et sAE [1]

Draw the diagram of total variable cost.

©us — d
SECTION-=B
1wt & 3 30 - 40 et | St

Answer the following questions in 30 - 40 words :

4) & T geul ¥ AR HEd W TR W S Y 0 ffe - (FE 1) [2]
C=1,000,I=1,500, G =500, X=250,M =750

Calculate the gross domestic production on market price by given values - (In Crore)
C=1,000, 1= 1,500, G =500, X =250, M =750

5) g fafw vunet s aweea| [2]
Explain the barter system.
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6) foremaen & fermenyma @ 31a o THE E 2 [2]
What do you meant by Paradox of thrift?

7) ORe] O H SUNRT S F SRR Bl qHEE| [2]
Explain the classification of consumption expenditure in domestic area.

8) T = | UREdA A HqeH 3 1 g aTel URe ohl Y@ < Jgean & augmsd| [2]
Explain the effect of change in government expenditure on the income equilibrium
with the help of diagram.

9) uft wra & rEEE— Hge & fe wma e 2 - [1+1=2]
amam = 1,500 f.2X, faia = 2,400 .31, 9gya /g = 520, 1 &R Sger U 90 @ 6
9 & 7T K|
If given values of balance.of payments in India as follows.

Import = 1,500 Million USD; Export = 2,400 Million-USD, Invisibles = 520 then
calculate trade balance and current account balance?

10) =afte steivea ua wmfte 31y | whis 3t i folan) [1+1=2]
Write any two differences between micro and macro economics.

11) =R stefeaen Hi g @t farsam fafem) [1+1=2]
Write any two characteristics of market economy.

12) @ aqu SR Feada awget | 9g fik) [2]
Distinguish between normal goods and inferior goods.
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13) Sruted Wer G sare Hifu) [2]

Explain briefly the production functions.

14) gut gfErtt SR # “Sied EiERs =EaER @ g [2]

Explain the 'price taking behaviour' in perfect competetion market.
p p g p p

15) wm fafse 71§ & foe aem ain o a9 aeR gid @ w1 7W wA: gP =200 - p,
q° =120+ p @ T EgeH hiFa qe Hge A1 1 i) [1+1=2]

Suppose given values of market demand and market supply respectively are

q° =200 - p, g°=120 + p: then calculate the equilibrium price and equilibrium

quantity.
16) i <t T3 AU | Hel G e TUMT ShifeTT — [YortYot Yot Yo=2)]
e (Q) 1 2 3 4
& (P) 22 19 16 13
FA T ? ? ? ?
Calculate the total revenue by below given table -
Quantity (Q) 1 2 3 4
Price (P) 22 19 16 13
Total Revenue ? ? ? ?
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wue -9
SECTION - C
= vt & 3 60 - 80 vregi | i

Answer the following questions in 60 - 80 words :

17) Uwa aret, ISThIN Tret U Wefies 9et sl ausiss| [3]

Explain the revenue deficit, fiscal deficit and primary deficit.

18) ‘e § oy SrofsEENd Gl 31’ 58 e w0 % fW A v A [3]

'In reality, most modern economics are open’. Describe any three ways to established it.

19) SUMIHI & TEAY TR hl Gc [T Al FHAfia wdt g 2 Tz [3]

How to regulate budget line to.consumer's optimum-choice? Explain.

20) UehITreRl W o SISIR |l sk ohi [Tl bl GgEdl o qHee | [3]

Explain market demand curve of monopoly firm with the help of diagram.

©ug — ¢
SECTION - D
= weHi & 3 100 - 150 vrsai @ i

Answer the following questions in 100 - 150 words :

21) He1 Fi Yfd § FHea Sk TS AT Seht Shi HiHeRT ht SATEAT Hif| [4]
Discuss the role of central bank and commercial banks in money supply.
Jgar/OR
Reta it S g gt i st & surt w6 auie i) [4]

Explain the measures of money supply control by Reserve Bank of India.
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22) YEntu=  wgrEn | win & e i wmen fifw) [4]

Explain law of demand with the help of diagram.
3tat/OR

TR AT 1 T UG @ hl T | THensd| [4]

Explain market demand with the help of a suitable diagram.

23) yut uftead s # ‘S ) fig’ it Yt H vewe @ ausnea| [4]

Explain the 'shutdown point'in perfect competetion market with the help of diagram.

Faar/OR
T frforett s wge # aiteds ot s ) aer | anarsd| [2+2=4]
b w i R i) ofi i fre
Explain changes in market equilibrium in following conditions with the help of
diagram -
1)  Shiftin demand i)  Shift in supply
> > >
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